yoursmahboob.wordpress.com
14!’ PUZZLE - 111

Each of them has different choice of

Directions (1 - 5): Study the following Red. G Colo,
r the from - Blue, Red, Green, Ye]) t

information carefully and answe White and Brown, not necessh yjrlla:hk:
. tudies in Staf 3

M, P, D, K, R, T and W are seven members 2;"%"3;; ﬁ:{gs"R; 3 égloi'h";* i&g,:i IV gy,

of a family. There are three female Staf-ndard V and does fidﬁike”eiu:::l?i“
members among them. There are two or Green. H does noLsf il Standar;ut,

lawyers, two teachers, two engineers and

» l )
one doctor among them. None of the and likes Yellowolbuf /P and J study ;.

the same stanflard but'not with 4 Nom |

female members is engincer. D is one of lone
the lawyers and is husband of P. W is one¢ ‘?‘.if‘ht'}tms?rl":;honc go lili::n!;ll:i i hl-f.:,
of the teachers. D and R are the only ) éte.nda V. J likes Brow ?t‘udm
children of M and K. T has the same in oia . Colour. p
. . . does not_] e colour.

profession as that of his uncle R. K is ) = 19 )
grandmother of T and W. R’s father is also 6. thch colaur'does P like?
a lawyer. K is not a doctor. R is unmarried. 1 g‘.,-‘c;’f{? {2) Blue

1. How is M related to T? AGfBlueor Green
(1) Father (2) Uncle (3) Brother ‘&)‘:P‘am inadequate
{4) Data inadequate (5) None of these 2(3) None of these

2.  Who is the doctor? ‘%sWhich of the following combinations is

definitely correct?

(1) R 2T @3 P @
(4) Data inadequate Q/ (1) IlI-H-Black (2) IV-K-Blue

(5) None of these (3) V-A-Blue  (4) IV-D-Green
{S) All are incorrect

3. Howis W rclated to R?
(1) Nephew {2) Nicce Kt 8.  Which colour does A like?
(3} Nephew or Niece ‘Q (1) Brown (2) Red  (3) White
(4) Data inadequate A&f :;: Eata “‘ra::lcquatc
(S) None of these one ol these
4. How is P related @ 9.  Which colour does K like?
(1) Daughter ter-in-law g: gl":cn . (2) Blue
(3) Grand-d ¢ or Green
(4) Daug é&'law (4) Data inadequate
(5) Non ese (5) None of thCSC
,@e* . . 10. In which std. d dy?
5. W, 541 following pairs of persons are (1) 11T only (;::;1:: Z Olf them stue¥
L nly
(1) (2) RW  (3) MP (3) Il or V only (4) Data inadequate

(S} None of these

(4} Data inadcquate
(5) None of these il:ll:CCtlong (11 - 15): Study the follo'l”g

ormati t
Directions (6 - 10): Study the following ation ct.re!'ully and answef

information carefully and answer the A.B, C, D, E, F and G are the only 5,
L ’ 1 » » n are €

re¢

AM, P, members of a family. There are "
of a school. The atuty o oven students females among theyn Tihere are o

V with atleast t);vo‘il Y n Std. ML 1V and married couples in the family. E& C:

. N any one standargq, them has a different profession- Architet”
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11.

12.

13.

14.

15.

Directions (}#
informati

16.

yoursmahboob.wordpre:

Lawyer, Doctor, Teacher, Engincer
Manager and Musician, not uccessnrilg;
in the same order.

B is the Lawyer and he is married to F, the
Manager. A is brother of G who is Architect,
C is the Doctor and is an unmarried lady.
D is the Teacher and is sister of G. Eis not
an Engineer.

Which of the following combinations is
definitely correct?

(1) B - Male - Manager
{2) B - Female - Lawyer
(3) C - Female - Musician
{4) E - Male - Musician
(S} D - Male - Architect

Which of the following combinations
represents the husbands of the two
married couples?

(1) BG (2) AF
(4) Data inadequate
What is E's profession?
{1} Doctor (2) Musician

(3) Teacher (4) Data inadequate
(5} None of these

What is A’s profession?
(1) Engineer '
(2) Musician

(3) Engineer or Musician 7
(4) Data inadequate é
(5) None of these

Which of the follo
couple?

(1) BG

(3) BE
(5) None of these

hirs is a married

(3) AC
(5) None of these

§): Study the following
efully and answer the

, D, W and Q arc seven fri_cnds
ing in three cars - A, B and C with at
least’two persons in each car. There are
three females among them, one in each car.
T travels with only her best friend Q in caxl-
B. M travel in car A. D and W do not trave

in car C. J is not a female and Wis a female.
J travels in which car?
ma (2) C (3)AorC

{4) Data inadequate (5) None of these

18.

19.

20.

Directichs (2;1, “

In which car do three
{1)c

of them travel?

2B (3yA
(4) Datg inadequate (5} None of these
D travels in which carp
{i)B 2)A {3)A0§?
(4) Data inadequate ) N Softhese

Which of the following gro%f) resents
the threc females? f"“\:‘%}

(1) WQR (2) D '“%;;;) DTR
(4} Data inadcanﬁtc . (5) None of these

Which of the foliguring-'combinations of car
person is not correct?

() A-M A 2)B-Q (3 CR
(4) A-D gx 7 ¥ '(‘3} All are correct
25): Study the following

informafidn’carefully and answer the

(lSeifp?ﬁ friends R, M, K, P, L, W and B live
<infthree different buildings, i.e. X, Y and

21.

.{1)B

22.

23.

f @ﬂ Not less than two or not more than three

live in any of the buildings. Each of them
has a liking for different fruits among
apple, jackfruit, watermelon, orange,
grapes, pincapple and mango, not
necessarily in same order. Three among
them are girls, one each in every building.
W likes orange and stays in building Y
alongwith only P. M lives in building Z and
likes jackfruit. None in building X likes
apple or grapes. R and L don't stay in X
building. K is R's close friend and she does
not like watermelon. L likes pineapple.
None of the girls likes orange and one of
them likes apple. R does not like grapes.

Who likes mango?

)P

(4) Data inadequate
Who stay in building Z?
(1} M, R (2)1K,B, M
(3}M,R, B @ MKR

(5) None of these

Which fruit does R like?

(1) Apple {2} Watermelon
(3) Mango (4) Pineapple
(5) None of these

(3K
{5) None of these




24.

25.

Who are the AUESIALD OO WOrdPLEsS . COMucers

()K,R, W (2)R, K, P

3)K, M, P (4) Data inadequate
(S) None of these

Which fruit does B like?

(1} Mango (2) Grapes

{3) Apple (4) Watermelon

(5) None of these

information carefully and answer the

26.

27.

28.

29.

30.

P, Q, R, S, T and U are six employees of
an organization. There are at least two
managers, at least two clerks and at least
one officer among them. They work in
three departments of Computers, Sales
and Marketing with at least two employees
in each department. In no department
there are emplovees belonging to same
cadre.

(i) T works in Sales and is not a Clerk.

{ii) Q, a manager, works in Computers.
(iii) P, the officer, works in Marketing.

Yala .?:-“

{4) Data inadequate
{S) None of these

information carefully and answer th
e

(i Eight persons A, B, C, D, E,F!
work in three different; 4 n(fein)? H
and Z. P e Y
(ii) There are two ladlh‘who work |

different com and lhc;r
specialisation. i a1s different.

(iiij) Two of thém ha)ve Specialisation i,
Finance, "randther two hay,
spccnahsatlon in Human Resources
two hage pecialisation in Marketmg
oneéxs*‘?gmeer and one of them i

=S la‘hst in” Computer.

(iv) .Dus A" specialist in Human Resource
h& \wcf‘kmg in Company X while her
friend G is a Finance specialist and

)‘f- works in Company Z.
£ W) His a Human Resource specialist who
£y works with Marketing specialist B but

(iv) R, an officer, works with T. f, does not work in Company Y.

{v) U does not work with P, 5{6\ it {vi) The _two persons with same
What is T's designation? \}wa specialisation do not work togethcr.
(1) Manager (2) Officer 2s (viijMarketing speciz}list: F works in

. Company Y and his friend A who is

(3) Manager or Officer ““"\;‘i Finance specialist works in Company
(4) Data inadequate "?\% X with only one other specialist.

(5) Nonc of these (viijIn no company more than three
With whom does S.mo m the same persons work.

department? (ix) C is an engineer and his sister works
(1) Q dﬁﬁ\:‘ (3) R in Company Z.

(4) Data inad {S) None of these (x) No lady is an engineer or Computer
In which e" following departments specialist.

there is n ager” 31. Inwhich two Compénies Human Resource
(1) Sa ’% (2) Computer specialists work?
(mmr Computer (4) Marketing () Xand Y (2) Yand Z
( onc of these (3} Xand Z (4) Data inadequate
In which department does U work? (5) None of these
(1) Sales (2) Computers 32. Who is Computer specialist?

(3) Marketing (4) Data inadequate
(5} None of these

The two clerks work in which of the 33-

following pairs of departments?
{1) Sales-Computers
(2) Marketing-Sales

(3) H

(1) C (2) E
(5) None of thes*

(4) Data inadequate
The two ladies are
()BandD (2)DandH (3) pand ©
(4) Either (1) or (3)

(5) Data are inadequate
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34.

35.
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What is the specialisation of H?
{1) Marketing (2) Finance
(4) Engineer (5) None of these
In which Company does C work?
Yy (2) 2 (3} X

(4) Either Y or Z (5} None of these

pirections (36 - 40): Study the following
ini‘ormation carefully and answer the
questions given below it:

36.

37.

38.

39,

40,

(i) There are seven members, four men
and three women in a family.

(il) The}' are L’ M! N: Op P) Q and R.
(iii) M is a businessman and father of P.

{iv) Qisthe paternal grandfather of P and
is a Doctor.

{v) N who is the housewife is daughter-
in-law of O.
(vi) R is P's uncle and is an.advocate.

(vii) There is one Architect, one Pilot and
one Journalist in the family,

(vil} N is not P’s mother.

{(ix) There are three married couples in the
family.

Directions (41 -
3) Computer information ca

questions given

41.

i

45): Stug
refull
below:

Yy the following
Y and anawer the

P,Q,

R, 5, T,U¢
Ench » Ty Uand V are geven professors,

o one teaches a different subject from
ysics; Chcmistry, Biology,

- English,
Mathematics, Economics and Gcﬁ*;z?h phy
not necessarily in the same ’ acl;

of them teaches one day eatlyortthe seven
days of the week from Monfsy.4b Sunday
not necessarily in the! 3gme order. R
teaches Biology ongFEri lay. Q teaches
Mathematics o hrrg\nous day of the
day on whicH the professor teaches
Physics. V teathes dn Sunday but does
not teach Chemistry or English, S teaches
Economics &1 the previous day on which
U teachesRiteaches Geography on
'T\.lg}sd?fg"l‘?-f:i&g!not teach English.

Onwwh.icl?.?aay does U teach?
N i
““‘Q@%ﬂhesday

‘2‘»
£(2) Thursday

S

¢
{3) Wednesday or Thursday

B k52 .
If Q is the grandfather of a pilot, wkat umz}'@ (4) Data inadequate
Q's daughtf':r-in-law's profession? ™ %%f (5) None of these
(1) Journalist (2) Doctor(3) AQVOCSre 43 which subject does V teach?
(4) Cannot be determined o= (1) Chemistry (2) English
(5) None of these R ' Dot inadequate
If O is the Pilot and the Journal ji%}is nota (3) Biology  (4) Data inadeq
female then P's profession i N 3 (5} None of these
(1) Architect () Jo?%% Doctor 43. Which subject does T teach?
(4) Cannot be determ} 10, (1) Chemistry
(5) None of these & 5 ) )
If the Pilot does ngs e any child, then (2) Physics -
] i ics
who is the Pilotf o, (3) Chemistry or Phys
(H L “t2) A (3P {4) Data inadequate
(4) Either (1 %@1 (5) None of these
() EitherAQ (3) which day does V teach?
WhicheBEL 3 following is a group of male 4. On o Thureda
?@%%b fs’ (1) Wednesday (2} Thursday
et .
(ino, R:}P, M (2) QM,RP (3) Monday  (4) Data inadequate
(3) \h' Q.M R 4) Either (2) oF 3) (5) None of these ]
{(5) None of these 45. Which subject does U teach:

3 i is the
If P’s mother is an Architect, which 18

set of three couples?

(1) ML, RM, QO(2) RO, ML, QN
3) QO, RN, PL

(4) Cannot he determined

{5) None of these

101

(1 Physics (2) English
(3) Physics or English

(4) Data inadequate

(5) None of these
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Directions {46 - 50): Study the following
information carefully and anawer the
queations given below:
J, K, L, M, N, O and P are seven kids
ing in the garden. They are wearing
5113{1111:5 of co]o?.lrs Black, Blue, White,
Green, Pink, Yellow and Brown, Out of Ehe
seven, three are girls. No girl is wearing
cither Black, Yellow or Brown. M's sister
O is wearing Pink, while he is wearing
Brown. J is wearing Blue while his sister
K is not wearing Green. N is wearing
Yellow while his best friend Pis a boy.
What colour is K wearing?
{1) Green {2) Pink (3) Brown
(4) Data inadequate {S) None of these

46,

47. What colour is P wearing?
(1) Black {2} Blue (3) White
(4) Green (S) None of these

48. What colours are the sisters of J and M
wearing?

(1) Pink and Green

{(2) Pink and Yellow

(3) White and Green

(4) White and Pink

(5) None of these

What colour is L wearing?
(1) Black (2) Green (3) White~s”
(4) Data inadequate

49,

S of these
50. Which is group denoting ofNheitls?
(1) KLM (2) KNO A {37
(4) Data inadequate A )Y’ None of thege

Anawers with Explap
1-85: From the pj

__ Ues we get the com-
plete infop

fi as follows:

Lawyer]

<= Ky
(Teacher]

Pe
[Doctor)

' ,, 20:

Where,
(+) = Male, (-} = Female

Grandfather

3.2 4.4 5.1

10: On the basis of the given clyeg the
plete information is as follow { Y

CLASS PERSON (COLOU R) 2

1. 5;
2. 3
6 -

Com.

1. Std. IHIP (Green), J | (Yﬂllow)
2. Std. IVM (Black), D (Recl}, &
3. Std.V A (White), K {Htg),’
6.1 7.5 @34493 10,
11 - 1S5: On the bfsis of the given clyeg the
complete infofmatién is as follows:

B i+) {La ) ] ) [Manager]

- G, [Architect] - p "
”“l[Musician] «> D, [Teacher]
A¥ig,’C « [Doctor]

NBte that ‘'C' is Unmarried.

f11.4 12.3 13.2 14,1 15.5

On the basis of the given clues the
omplete information is as follows:

CAR | PERSON(GENDER)
1. A Mm: DM,WH
2. B Ty Cu
3.¢| J.. R,
16.2 17.3 18.2 19.1 205
21 -

28: On the basis of t

he given clues the
compl

ete information is as follows:

BUILDING PERSON (f‘RUl'r)

1|X K, [Mango], B, [Watermelon]

2.1Y W, [Orange}, P, [Grapes)

3jz M [Jackfruiy), R, [Apple], L., [Pincapflfh
21.

3 22.5, M,RandL o3 24.2 25.4
- 30: On the basis of the given clues the
complete information is as follows:
DEPARTMENT [PERSON (PROFESSION)

1.|[Computers o (Manager}, U (Clerk)
2.1Sales T (Manager), R (Officer) _
3.[Marketing p (Officer), S (Clerk)

26

—

26,1 27.5 28.4 29, o 30. 3
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31 - 35: On the basis of the given clues the ob- 41

tained information is as follows: 8- On the basis of the gi
<oNFANY | PERSON (SPECIALIZATION] — 1 Plete information s g 7311?3:8 the com-
e :
X__| D,Human Resource), AdFinanc] DAY | PERSON SUBIECT
2| Y Flz,llfﬂfkf““d’ Cu{Engineer], E, |Computer Expert] L {MON T Chemistry
z G [Finance], H,[Human Resource], B {Marketing) 2.1 TUE P
Note that gender of G and B is not known 3. |WED
31.3 32.2 33.4 34.5 Human Resource . >
35, 1 4. | THU U
36 - 4oth On the basis of the given clues, we get S. | FRI R
e following information. 6. | SAT 0
Q . [Doctor] <0 7. | SUN —
41.2
42.5; Physics

L ,=M [Businessman] R, [Advocate] hJhasis of the given clues, we get

+) =N,, [Housewife] owing information:
GENDER] COLOUR| RELATION
Male Blue Brother of K|
P () Female |White | Sister of J
Female Green X X M XM
Note that the professions of O, L aft Male Brown | Brother of O
not clear. Male Yellow | x % X x X
36.4 37.2 383 392, Female |Pink | Sister of M
405; ML, RN and QO = Vale | Plack < x =
46.5, White
47.1 48.4 49.2 503

103



